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= 4,340,988 4,340,988 0
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< 3,188,276 3,164,369 23,907
= 15,754,912 16,112,649 N 357,737
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= 24,138 24,138 0
J| 240,827 236,895 3,932
< 130,679 149,611 A 18,932
= 8,605,295 8,791,789 A 186,494
fH=ds 709,594 781,894 AT72,300
= 24,138 24,138 0
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[ia 641,456 698,756 A 57,300
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201 LEr2A | 130,510 133,510 A 3,000
01 At 2teltl 29,510 32,510 A 3,000
O=30lz Z2HME K22l 0& 0 3,000 A 3,000
202 Oddl 4,500 15,600 A 11,100
01 = LH 4 1l 4,500 15,600 A 11,100
O20=&dA 2R 4,500,000& 4,500 15,600 A 11,100
301 LEEBA S 16,100 24,300 A 8,200
09 HALAHIXI &3 16,100 22,100 A 6,000
OZHel B (HAad) 14,000,000& 14,000 20,000 A 6,000
o=t - 2s2SELS 0 2,200 A2,200
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=) 19,000 34,000 A 15,000
s 0 35,000 A 35,000
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=) 19,000 34,000 A 15,000
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2 846,600 876,600 30,000
201 Yete | 50,000 80,000 30,000
01 At 22l 50,000 80,000 30,000
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SRS 339,590 339,590 0
p] 240,827 236,895 3,932
< 29,029 32,961 £3,932
2 69,734 69,734 0
307 212+0| & 337,590 337,590 0
p] 240,827 236,895 3,932
< 29,029 32,961 £3,932
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02 UAHMAYEE 337,590 337,590 0
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01 At 22l 171,162 247,266 ~T76,104
Oger+gHl 171,162 247,266 ~76,104
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02 ZZ 2l 29,948 40,038 A10,090
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NIERCEL 600 9,600 A9,000
OBMIDS P2 =7 50,0008 4% 600 9,600 £9,000
307 21201 & 33,000 48,000 A15,000
02 SIABMANS R 33,000 48,000 A15,000
O%m sotel 24 Xg 33,000,0002! 33,000 48,000 ~15,000
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= 56,260 63,421 A7,161
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< 19,000 21,211 ~2,211
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~ZA4YE DEXY HIS™ 38,000,008 38,000 42,422 £4,422
< 19,000 21,211 ~2,211
2 19,000 21,211 ~2,211




2N 230s
M BMDS L ATSS N
ol NHDS

SA-3H-S(3AH) - MRAS - BES Ol &F o4 I E M Husz
BEZE DENRAY 124,200 140,700 16,500
= 37,260 42,210 4,950
2 86.940 98,490 A11,550
301 LprEH 124,200 140,700 £16,500
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2 86.940 98,490 A 11,550
12 JIE 2 & 3 124,200 140,700 16,500
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= 37,260 42,210 £ 4,950
2 86,940 98,490 A11,550
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= 4,299,850 4,299,850 0
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=2 4,299,850 4,299,850 0
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< 2,996,237 2,946,237 50,000
2 3,116,076 3,034,076 82,000
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= 153,007 153,007 0
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OJIZ A 731,712 699,712 32,000
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01 A& HI 100,000 0 100,000
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